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QUESTION 1

Your company has decided to move an on-premises application to the cloud. The application\\'s data is currently stored
locally on a physical Red Hat Enterprise Linux (RHEL) server. Which NetApp solution would be used to migrate this
data to an Azure NetApp Files volume? 

A. SnapVault 

B. Cloud Sync 

C. SnapMlrror 

D. AzCopy 

Correct Answer: C 

Reference: https://docs.netapp.com/us-en/netapp-solutions/pdfs/sidebar/Red_Hat_OpenShift_with_NetApp.pdf 

 

QUESTION 2

What are three types of data access? (Choose three.) 

A. cloud 

B. object 

C. RAID 

D. block 

E. file 

Correct Answer: BCE 

 

QUESTION 3

You want complete visibility into your infrastructure to monitor, troubleshoot, and optimize all of your resources,
including your public clouds and your private data center. Which NetApp SaaS product will satisfy these requirements? 

A. Cloud Manager 

B. Active IQ Unified Manager 

C. Cloud Insights 

D. My Services In Cloud Central 

Correct Answer: A 
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QUESTION 4

Which statement is correct about block and file data access? 

A. With block data access, the host OS owns the file system; with file data access. ONTAP owns the file system 

B. With block data access. ONTAP owns the file system; with file data access, the host OS owns the file system 

C. With block and file data access, the host OS owns the file system 

D. With block and file data access. ONTAP owns the file system. 

Correct Answer: A 

 

QUESTION 5

The NetApp Cloud Compliance service scans data from which two data sources? (Choose two.) 

A. Azure Ultra Disk 

B. Amazon S3 Glacier 

C. Microsoft OneDrive 

D. Cloud Volumes ONTAP 

Correct Answer: BD 

https://docs.netapp.com/us-en/occm/concept_cloud_compliance.html#supported-working-environments-and-data-
sources 

 

QUESTION 6

You are helping to deploy a new cloud application. Over time, cloud resource requirements will likely grow and could
become costly. Your manager asks you to collect cost data and determine how to optimize costs. In this scenario, which
NetApp product would enable you to fulfill this request? 

A. Cloud Compliance 

B. Cloud Volumes ONTAP 

C. Cloud Volume service 

D. Spot Cloud Analyzer by NetApp 

Correct Answer: D 

Reference: https://spot.io/products/cloud-analyzer/ 

 

QUESTION 7
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What are two advantages of using containers? (Choose two.) 

A. Containers can be easily deployed using an ovf format. 

B. ontainers are easily deployable. 

C. Containers reduce networking complexity. 

D. Containers Include all necessary executables, binary code, libraries, and configuration files. 

Correct Answer: AB 

 

QUESTION 8

Your customer wants to purchase a NetApp SolidFire storage cluster. The customer wants to know the minimum
required nodes per cluster. In this scenario, what do you tell the customer? 

A. Three nodes are required. 

B. Four nodes are required. 

C. Two nodes are required. 

D. Six nodes are required. 

Correct Answer: B 

 

QUESTION 9

What are two benefits of providing object storage with NetApp StorageGRID appliances? (Choose two.) 

A. enterprise-grade hardware 

B. integration with VMware vSphere 

C. simplicity of deployment 

D. underlying heterogeneous storage 

Correct Answer: AB 

 

QUESTION 10

What must be used for all backup and restore operations with Cloud Backup? 

A. SnapLock software 

B. SnapCenter software 

C. Cloud Manager 
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D. Cloud Sync 

Correct Answer: A 

 

QUESTION 11

You are using Cloud Manager to manage your resources. 

In this scenario, which two features require you to deploy a connector? (Choose two.) 

A. Cloud Volumes Service 

B. Azure NetApp Files 

C. Cloud Backup 

D. Cloud Volumes ONTAP 

Correct Answer: AC 

 

QUESTION 12

Your organization currently has a containerized application running on Google Kubernetes Engine (GKE). You want to
begin backing up your stateful application data and enable your development teams to easily create copies of the
application for testing and staging. 

In this scenario, which NetApp product would accomplish this goal? 

A. Cloud Volumes ONTAP 

B. Astra 

C. Cloud Backup Service 

D. Cloud Manager 

Correct Answer: A 

Reference: https://cloud.netapp.com/blog/gcp-cvo-blg-google-kubernetes-engine-ultimate-quick-start-guide 

 

QUESTION 13

Your company has a NetApp ONTAP solution deployed in a data center. The current solution has a large amount of
stored inactive data. You are asked to tier this data to the cloud, but you must keep the data efficiencies that you are
using in the data center. 

In this scenario, which NetApp technology enables you to accomplish this task? 

A. FabricPool 

B. StorageGRID 
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C. Cloud Volumes Service 

D. Cloud Volumes ONTAP 

Correct Answer: C 

 

QUESTION 14

Which three benefits of using NetApp Cloud Volumes ONTAP for AWS? (Choose three.) 

A. automatic tiering to Amazon S3 for cost reduction 

B. automatic replication to Cloud Volumes Service with SnapMirror 

C. ONTAP thin provisioning for space efficiency and over-provisioning 

D. NetApp Aggregate Encryption (NAE)with Onboard Key Manager 

E. ONTAP data reduction mechanisms with compression and deduplication 

Correct Answer: ABE 

 

QUESTION 15

Your customer asks you to create a Storage VM that provides NFS access. In this scenario, which type of Storage VM
needs to be created? 

A. system Storage VM 

B. node Storage VM 

C. admin Storage VM 

D. data Storage VM 

Correct Answer: D 

NS0-003 VCE Dumps NS0-003 Study Guide NS0-003 Exam Questions

Powered by TCPDF (www.tcpdf.org)

NS0-003 VCE Dumps | NS0-003 Study Guide | NS0-003 Exam Questions                                6 / 6

https://www.passapply.com/ns0-003.html
https://www.passapply.com/ns0-003.html
https://www.passapply.com/ns0-003.html
http://www.tcpdf.org
https://www.passapply.com/ns0-003.html
https://www.passapply.com/ns0-003.html
https://www.passapply.com/ns0-003.html

